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These rulings are by a naanwnai 93n — nanwRT I3n2 % 317

OVERVIEW

The xan3 differentiates between a DYANWH 71RY ¥, which necessitates that
the 7P stand next to his field in order to acquire through 2% 1732, and a "X
nanwnn, which is Wy X2 71y (and even if he is not standing next to it).
M1 reconciles our X3 with other M3 which seem to contradict it.

nooIn asks:
— N (xn2YM H>nHNN N7 OWY 3,01 97 8P N33) NI HN NIY NIV P992T NN

It is astounding, for in 779277 PR AR T P90 the X713 states -
— 1915 anwn NP AN D10 NN NN HRIY? 192 92 HY 1OuUN

A Jew was in possession of collateral from a convert (who owed the Jew
money), and the 93 died without heirs, etc. and this one acquires the rest,

etc.
— 9995 NN 2942 D)2 29 YINT IINN MY NPM 799

And the X713 there asked, let the 23 of the m%» acquire the Now» on his

behalf, for 1''2%9 ruled, etc. that 1y X5w % 719 078 YW 17°%¥0. Why does the other

party keep the excess 11Own over the amount of the loan?!
— 99803 MYNY 2w NINdY 744*22))

And the %773 concluded (in order to answer the previous question), ‘that he

is not there’; the explanation of this is that the /m%» was not in his =3n,
and therefore he is not 71132. This concludes the citation of that X33 with the "'

mooIn concludes his question:
— NNNYNN I8N MHNT YNRYN ONHT IVPI

And there is a difficulty; for it seems that there it was a naanw»T 937 -
—>N9M N9MT NINNWNIA 995137 N3N 793 Y01 391 n9Y SNNM

Since the X 3 there in the question cited the ruling of 1n'"2%9 who is

discussing a nannwnn 9xn as is evident from the X713 here -
—PIVUNH QY 9MYY NN 950VN IRT 1IN NINUNT TV

And in addition presumably the house of the 7171 is certainly 22nw», for

" The case there was that the 119w» was worth more than the loan. Another person took possession of the
1own (before the 7171 had a chance to do so) after the 13 died. The rule is that the 7171 retains from the 1own
the equivalent value of his loan (for that value of the 112wn is subordinate to the loan, and is 72wwn to the
m191), and the one who took the 119w retains the remaining value.

25"y there 7°1°97 71"72 comments that the 1 was not in the city. [See there following 7°n°972 7"7 >"w.]

? Our xm3 clearly differentiates between the fwn (which is discussing a nanwn» Arxw 1xn and therefore in
order for his 7% to be 71, he must be standing 177w 7¥2) and 1" (who is discussing a NANWHIT XN
which is 737 even 1NYTA X7W).
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he (guarded) [held] the }ow? there -
— 2379 99 1PIPY 3 13 ON)
And since it is so (that it is a nanw»a 2%n), the M2 should acquire it even

if he was not there! How can the X3 there explain that the M2 is not 71y because
he was not there?!

mooin asks an additional question:
- 41’3‘\’)5‘\)3)3 79995 NN 293 YD 22910 9D PPN MY

And furthermore; rather than challenging this ruling (of 15wn) from the

ruling of n''a%9, the X711 should challenge it from our 71w? where it states
that 727 is 700!

mdoIN responds to this last question:
-559 nNat MNT Na Mty 19037 ©IYN MHN PHINNKT NINY Y1 NTINMN)

However this last question we can answer, that the X773 did not want to ask
from the 71wn, because we could answer, that in our W the reason he is
n1p is because he intended to acquire it, for he said % n5%, however in the
case of the 73, the M%» was not even aware that the 13 died and he certainly had no intent
to acquire the 10wWn -

— N3N 2292 Y0Y% %291 NN Y
Therefore he brought the ruling of 1''2%9, who stated that it is 71 even X>w

1nyTn. However the first question remains, why does not the Mm% retain the entire 1own
since it was in his Mw"; his MW should acquire it for him %7 PIp2.

NDO0IN answers:

—98NA PIWNY NINYT XRYITI 99NT 939 U
And one can say that this is the explanation of the answer 71°n°%7"; that
the 112w was not in the 927 of the m“» at the time when the 3 died, therefore his

9% cannot be 711p -
— S98na 795999 99991 IVPNIN 2AY B) NIYN YaN

* If we assume that the answer is that the Mm% was not present; this indicates that in the question we
assumed that the m>n was present. The X3 should have asked from our mwn which clearly states that a
93 is AP if the owner (in this case the M7») is 177w 7¥2 72W. A question based on a 71wn (ono), is (much)
stronger than a question based on a statement of one Xin.

5> moon explains that if the 1wpn would have asked from the 71wn, the 7¥7n could have answered that the
m1wn is only when n11p? 171501 (but by the 13 the mY»n was not N1P% 11501). In truth however, in our 71w he
is P even NYTA K7W as MdOIN stated previously 31 7"72. See “Thinking it over’.

% mooin (perhaps) means to say that (even) according to the Jwpn it is irrelevant whether the % was or was
not 17°¥113, for since it is a NMPNWAT TXA, it is always 711, [See 7w 0"nn who asks that from the X723 there
it seems that the (initial) answer was that the 779 was not there; indicating that the jwpn assumed that the
m7n was there.]
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However, even according to the jwp» (who asked that his 9% should be
71p), it was understood that we are discussing a case where the m®» was
not in the 2357 -

— N3N %393 50)% %291 ON 3 PIINNMI 7299 XY 7o
And therefore the 7wpn did not challenge the ruling from our 73w (since
our 7wn is discussing a case where 177X 7¥2 7MW, and by the story of the 73,

the m>» was elsewhere) but rather he challenged the ruling from 1''2%,
who ruled that by a nanwian 2xn (which is the case of the 93) you are 72 even 1My7a ROV
(it is not necessary to be there), so why was not the 7 M%» the 1own. The R
answered the 110wn was not in the 2¥m.

mooin asks:
— 0T (v Hrnnnn 11227 0w 3,3y 97900 PNV P9 9IND ON)

And if you will say; we learnt in a ;73w in P97 P98, ‘if the husband -
— DIMNYNT YNRYN HYNN N8N TINY IN NN PINY PR

Threw a v) into her house or into her courtyard, she is divorced’, it

seems that the N°2 or the 7% were nananw? -
— N2 183 HTIYY NINI XY 9N 291 199N

And nevertheless 8% ruled that she is divorced provided that she was

standing next to her house. The question is that since her house is a naPnwHI 737,
why is it necessary for her to be standing near her house?

Mo0IN answers:
$PPNYNYA 9INRTI N2 THA NTNIY 1P NN YA NIINRT V) 22X RPITT 9D Y

And one can say; that only by a w3, which is effective even against her
will, we require that she stands next to her house, as the x1n3 states’ later
in this X°»0.

SUMMARY

In the case of 23 W 11DWwn, if the 1own would have been in the mwA of the
M9, he would have acquired it completely since nvAanwn 17780 is RPW 1P
YA, except by V3 since it 1s 3"¥2.

THINKING IT OVER
mooIn stated® previously that 77K is not required by 28r P1p even if it is not
nannwna. Does that mean that there is no need even to have intent to be 711p?

TR, 2,80 b,
855 anar 1"72. See 30w NIX *"92.
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